We have the following lab problem that we are asked to analyze and explain:

We are given the following:

· 10 grams of aluminum sulfate, Al2(SO4)3 is dissolved in 100 grams of demineralized water with a pH of 7.0
· The solubility product of the aluminum sulfate is given as 364 g/l

· The pKa is given as 3.3

· Dissociation reaction is:

· Al2(SO4)3 + 6 H2O ----( 2Al(OH)3 + 3H2SO4 

· We also know that the sulfuric acid then further dissociates to:

HSO4- + H+
SO4-2 + H+
We are also given:
· 10 grams of maleic anhydride, C4H2O3 is also dissolved in 100 grams of demineralized water with a pH of 7.0

· The solubility product of the maleic anhydride is given as 788 g/l

· Dissociation reaction is given as:

· C4H2O3 + H2O ---( C4H4O4    (maleic acid)

· The pKa of maleic acid is given as 1.89

· We also know that maleic acid will also continue to dissociate to:

C4H3O4- + H+
C4H2O4-2 + H+
C4HO4-3 + H+
C4O4-4 + H+ 

We are asked to determine which reaction will produce the lowest pH in solution and why? And we are asked to detail out the various dissociation and solubility product math/chemistry steps?

